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Unfortunately, three people in

the car accident yesterday.

A. die

B. were die
C. dead

D. died

Last Friday, my mother came
her secondary school classmate in a department
store and they chatted for a long time.

A. across
B. out
C. onto
D. wup

Which of the following is not a kind of fruits?

A. passion fruit
B. mandarin

C. asparagus
D. pomelo

Which of the following word has a different
meaning from others?

A. Dblissful

B. playful

C. delighted

D. joyful

A woman purse was stolen

called the police last night.

A. which
B. whose
C. that
D. if
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Rearrange the letters to form a meaningful word. The first one is done for you as example. 1 mark is

awarded to each correct answer. (5 marks)
Answer

Example = OTRES STORE

(a) LEAPP

(b) ARMYPIR

(c) DFGHILOS

(d) DUSTTEN

(e) BCOOTER

Find and circle all of the words that are hidden in the grid. The words may be hidden in any direction. The

first three words have been done. 1 mark is awarded for each correct answer. (7 marks)
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16. ACBBC
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